[ B=1 =% |

FEMZEDIRERNRE

ek RERE

4 THOFERAERDIREHRE



FEME (REANRRK)

8 SHEERAERAIRERE

[#st2 GEREMR)

B H= &% °F
EEIEE
1= 18, 342, 858
ERAERLRERE
1= 18, 342, 858
EAERLRERE
1= 18, 342, 858
REAERLRERE AEEE 1,00, ERURE - BE 1,00, FAEHERE 1.00=X, WA EW ZEEZY) 1.00=K,
1= 16, 166, 898 =&t 12. 00, #R7K 12. 00, EXHLEMW 1. 00X, H4radER 1. 00X, #|HESIERL 1. 00K,
BiE (P1. PT) 4.00#hsa, HRIE (P1. PTLASY) 44.00ihma. B ABTHEER 44. 00t .
EEEMAFERI P, PT) 4.00thm., EEEMREIREPI, PTLISY) 42,0045,
BT - FR(EEEDHAR) 1.00xX. BH. BYRLERVEH(KEELEEYHAZE) 50. 00413,
R - FR(KREEEEYRE) 1.0, BRRUEHK (TEEYAE) 12.004 3,
AT - BE(FEFEWAE) 1.00xX. EEFAE 6. 00418, UAVL—F—RIZ1 1.00E. UAVL—H—RI=E2 1.00[E.,
UAVL—H—BI23 1.00E. E{HLE 1.00X. FHEERF 1.00xX. ERIREF 1.00xX. REFTEE 1. 00K,
IRIEFEEE 1.00=
EERE ERiiHE 1.00E. FRIERE 1.00@m, HiEHKE 1.00@. EHFRER 1.00X. KRE GRETEHLS) 1,00
1= 2,175, 960




FEME (EREEE)

8 SMOFERAERNRARE

[#zt3 (Emas |

B e £4 iR
EEINEE
1= 13, 342, 220
HRE
1= 7,107, 780
BEEXE
1= 20, 450, 000
EERME
1= 5,000, 638
EEAME
1= 4,953, 420
HERE
1= 47,218
Z Dt R {E
1= 2,667,416
EREM
1= 7, 668, 054
—REEES
1= 4,121,946
BEREE
1= 11, 790, 000
BIEEEME
1= 32, 240, 000
¥ E I EMHE
1= 32, 240, 000




